
+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net
YIL.25

0.5P 
Serisi

1995-2020



(cm3/dev) (bar)
0,08 1/8 B 230 30 - M6*1*13 30 - M6*1*13
0,08 1/8 B 230 3/8 1/4
0,08 1/8 B 230 3/8 3/8
1,10 1/8 B 230 30 - M6*1*13 30 - M6*1*13
1,10 1/8 B 230 3/8 1/4
1,10 1/8 B 230 3/8 3/8
1,30 1/8 B 230 30 - M6*1*13 30 - M6*1*13
1,30 1/8 B 230 3/8 1/4
1,30 1/8 B 230 3/8 3/8
1,60 1/8 B 230 30 - M6*1*13 30 - M6*1*13
1,60 1/8 B 230 3/8 1/4
1,60 1/8 B 230 3/8 3/8
1,80 1/8 B 230 30 - M6*1*13 30 - M6*1*13
1,80 1/8 B 230 3/8 1/4
1,80 1/8 B 230 3/8 3/8
2,10 1/8 B 230 30 - M6*1*13 30 - M6*1*13
2,10 1/8 B 230 3/8 1/4
2,10 1/8 B 230 3/8 3/8
2,70 1/8 B 230 30 - M6*1*13 30 - M6*1*13
2,70 1/8 B 230 3/8 1/4
2,70 1/8 B 230 3/8 3/8
3,20 1/8 B 210 30 - M6*1*13 30 - M6*1*13
3,20 1/8 B 210 3/8 1/4
3,20 1/8 B 210 3/8 3/8
3,70 1/8 B 210 30 - M6*1*13 30 - M6*1*13
3,70 1/8 B 210 3/8 1/4
3,70 1/8 B 210 3/8 3/8
4,20 1/8 B 210 30 - M6*1*13 30 - M6*1*13
4,20 1/8 B 210 3/8 1/4
4,20 1/8 B 210 3/8 3/8
4,80 1/8 B 190 30 - M6*1*13 30 - M6*1*13
4,80 1/8 B 190 3/8 1/4
4,80 1/8 B 190 3/8 3/8
5,80 1/8 B 190 30 - M6*1*13 30 - M6*1*13
5,80 1/8 B 190 3/8 1/4
5,80 1/8 B 190 3/8 3/8
7,00 1/8 B 160 30 - M6*1*13 30 - M6*1*13
7,00 1/8 B 160 3/8 1/4
7,00 1/8 B 160 3/8 3/8
8,00 1/8 B 160 30 - M6*1*13 30 - M6*1*13
8,00 1/8 B 160 3/8 1/4
8,00 1/8 B 160 3/8 3/8

B - Kare Kapak 
B-T

T - Konik Kamalı Şaft

Pompaya ait şemalar sonraki sayfadadır.

0.5P 
Serisi

+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net



B-T

+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net



D-R

(cm3/dev)
0,08 D 230 3/8 Ø9 mm
1,10 D 230 3/8 Ø9 mm
1,30 D 230 3/8 Ø9 mm
1,60 D 230 3/8 Ø9 mm
1,80 D 230 3/8 Ø9 mm
2,10 D 230 3/8 Ø9 mm
2,70 D 230 3/8 Ø9 mm
3,20 D 210 3/8 Ø9 mm
3,70 D 210 3/8 Ø9 mm
4,20 D 210 3/8 Ø9 mm
4,80 D 190 3/8 Ø9 mm
5,80 D 190 3/8 Ø9 mm
7,00 D 160 3/8 Ø9 mm
8,00 D 160 3/8 Ø9 mm

D - 2’li Civalama Montajı
R - Kesik Şaft

+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net


